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2, 3009 LA F 4, 600 At y = 0.8w
4,600 LL 11, 660 LA y = (—3w?3+ 70,280w) / 70,600
11,660 [ 14, 210 LA F y = 0.5w
14,210 F y = 17,105

. FEHEHIZR WV TG L 60 AT T 5 A B A IS4 551 H A

B4&BH%8 (w)

EARTFHHHE ()

2, 300 LL I 4, 600 K15 y = 0.8w
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11,660 I 15,620 LA T y = 0.5w
15,620 [ y = 7,810
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y = 0.8w

4,600 LL 10, 500HLLF

{ y = (—7w'+126,600w) / 118,000
y = 0. 05w—+4, 200
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10,500 948 14, 920 LLF y = 0.45w
14,920 M2 y = 6,714
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2, 300 2L I 4, 600 K15 y = 0.8w
4,600 LA =11, 660 LA T y = (—3w?+ 70,280w) / 70,600
11,660 F# 12, 790 LA F y = 0.5w
12,790 M3 y = 6,395
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ERRREFE18EE 1R, B19XF2HRUEC1XKETR
[CET TR EEDONAFEELLEOREE

TRBFEBHTFHNELREEE | TR26FEEEHTHERGEEE
4R 263,932 264,410
5R 259,835 260,686
6R 261,015 262,102
7R 259,950 261,290
8A 259,206 259,938
9R 259,504 261,019
10A 261,149 261,659
118 261,354 261,571
128 260,735 261,502
18 257,735 256,660
28 259,064 257,074
3R 261,351 259,251
FER 3,124,830 3,127,162
15 260,403 260,597




